
Topic/Skill Definition/Tips Example 

1. Real life graphs Graphs that are supposed to model some real-life 

situation.

The actual meaning of the values depends on the labels 

and units on each axis.

The gradient might have a contextual meaning. The y-

intercept might have a contextual meaning.

The area under the graph might have a contextual 

meaning.

.

2. Conversion

graph

A line graph to convert one unit to another.

Can be used to convert units (e.g. miles and kilometres ) 

or currencies ($ and £)

Find the value you know on one axis, read up/across to 

the conversion line and read the equivalent value from the 

other axis.

3. Depth of water in 

containers

Graphs can be used to show how the depth of water 

changes as different shaped containers are gilled with 

water at a constant rate.

A graph showing the cost of hiring a 

ladder for various numbers of days.

The gradient shows the cost per day. 

Its costs £3/day to hire the ladder.

The y-intercept shows the additional 

cost/deposit/fixed charge (something 

not linked to how long the ladder is 
hired for). The additional cost is £7
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Conversion graph  miles kilometres



8km = 5 mils
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Try These

a. How far has he run after 4.5 seconds?

b. How long has it taken Usain to run 130 metres?

c. How far has he run after 8 seconds?

d. Why does the line go through the origin?

Time 

Distance 

to from 

the floor 

in metres 

(h)

Time in seconds (t)

a. How high is the bungee jump?

b. Why does the graph zig-zag?

c. How long is the person falling for until they begin to bounce back up?

d. Why does the person stop at 3 metres and 0?

e. How long is the person not bouncing but still upside down for?

Taxi Fare 

in £ (f)

Distance in miles (d)

a. Why does the taxi fare not go through the origin?

b. How much does it cost to travel 6 miles?

c. How far can I travel t I only have £10 in my pocket?

d. What does the journey cost after 9 miles? And after 11 miles?

e. What does the flat part of the graph mean?

f. What is the equation of the line from 0 to 8 minutes?

g. What is the equation of the line from 8 minutes onwards?

Usain Bolts Race

Bungee Jump!

Taxi Journey
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1. Place Value The value of where a digit is within a number. In 726, the value of the 2 is 20, as it is in the ‘tens’ column

2. Place Value

Columns

The names of the columns that determine the value of each digit.

The ‘ones’ column is also known as the ‘units’ column.

3. Rounding To make a number simpler but keep its value close to what it was.

If the digit to the right of the rounding digit is less than 5, round 

down.

If the digit to the right of the rounding digit is 5 or more, round 

up.

74 rounded to the nearest ten is 70, because 74 is closer to 70 than 80.

152,879 rounded to the nearest thousand is 153,000

4. Decimal

Place

The position of a digit to the right of a decimal point. In the number 0.372, the 7 is in the second decimal place.

0.372 rounded to two decimal places is 0.37, because the 2 tells us to 

round down.

Careful with money – do not write £27.4, instead write £27.40

5. Significant

Figure

The significant figures of a number are the digits which carry 

meaning (i.e. are significant) to the size of the number.

The first significant figures of a number cannot be zero.

In a number with a decimal, trailing zeros are not significant.

In the number 0.00821, the first significant figure is the 8.

In the number 2.740 the 0 is not a significant figure.

0.00821 rounded to 2 significant figures is 0.0082

19357 rounded to 3 significant figures is 19400. we need to include the 

two zeros at the end to keep the digits in the same place value columns.

6. Truncation A method of approximating a decimal number by dropping all 

decimal places past a certain point without rounding.

3.14159265… can be truncated to 3.1415 (note that if it had been 

rounded, it would become 3.1415)

7. Error 

Interval

A range of values that a number could have taken before being 

rounded or truncated.

An error interval is written using inequalities, with a lower bound 

and an upper bound.

Note that the lower bound inequality can be ‘equal to’, but the 

upper bound cannot be ‘equal to’.

0.6 has been rounded to 1 decimal place.

The error interval is: 0.55 ≤ x < 0.65

The lower bound is 0.55

The upper bound is 0.65

8. Integer A whole number that can be positive, negative or zero. -3, 0, 92

M
ill

io
ns

H
un

dr
ed

 T
ho

us
an

ds

T
en

 T
ho

us
an

ds

T
ho

us
an

ds

H
un

dr
ed

s

T
en

s

O
ne

s

T
en

th
s

H
un

dr
ed

th
s

T
ho

us
an

dt
hs

T
en

 T
ho

us
an

dt
hs

H
un

dr
ed

 T
ho

us
an

dt
hs

M
ill

io
nt

hs

PLACE VALUE CHART

D
ec

im
al

 P
oi

nt

Ye
ar

 8
 –

M
at

h
s 

/ 
U

n
it

 6
 D

ec
im

al
s 

an
d

 R
at

io
s 
–

H
T3



Topic/Skill Definition/Tips Example 

9. Decimal A number with a decimal point in it. Can be positive or negative 3.7, 0.94, -24.07

10. Negative

number

A number that is less than zero. Can be decimals -8, -2.5

11. Ratio Ratio compares the size of one part to another part.

Written using the ‘ : ’ symbol.

3:1

12. Proportion Proportion compares the size of one part to the size of the 

whole.

Usually written as a fraction

In a class with 13 boys and 9 girls, the proportion of boys 
13

22
is and the 

proportion of girls is 
9

22

13. Simplifying

Ratios

Divide all parts of the ratio by a common factor 5 : 10 = 1 : 2 (divide both by 5)

14 : 21 = 2 : 3 (divide both by 7)

14. Ratios in the 

form 1 : n or 

n : 1

Divide both part of the ratio by one of the numbers to make one 

part equal 1
5 : 7 = 1 : 

7

5
in the form 1 : n

5 : 7 = 
5

7
: 1 in the form n : 1

15. Sharing in a 

Ratio

1. Add the total part of the ratio

2. Divide the amount to be shared by this value to find the 

value of one part

3. Multiply this value by each part of the ratio

Use only if you know the total

Share £60 in the ratio 3 : 2 : 1

3 + 2 + 1 = 6

60 ÷ 6 = 10
3 x 10 = 30, 2 x 10 = 20, 1 x 10 = 10

£30 : £20 : £10
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Try these …

1a) Work out

i. 26.8 ÷10

ii. 26.8. x 0.01

iii. 26.8 x 0.1

b) Explain why two of the calculations give the same answer

Simplify these ratios

2 a) 24 : 120

b) 20 : 7.5
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